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Time: 3 Hours Max. Marks: 80
Note:- This paper is of Eighty (80) marks divided into
three (03) Section A, B and C. Attempt the question
contained in these sections according to the detailed

instructions given therein.
dle:— I8 U 3! (80) 3idi BT 7 ST <A (03)
Quel &, @ dor T H o 71 g @ve # Ry
U foega el & SR & Ul @1 8 BT ©
Section-A (EVs—®)
(Long Answer Type Question) (€€l STRI drdl 93H)
Note:- Section ‘A’ contains four (04) long-answer-
type questions of Nineteen (19) marks each.
Learners are required to answer any two (02)
questions only. (19x2=38)
dlec— s ‘§ # IR (04) <Y ST U o T 2|
gAd U & forg S+ (19) i fAaiRa 2
e &7 399 | dHad ar (02) Tl & IR
CRRY
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1. What do you mean by monetary policy? How
do monetary policies of an economy affects its
development?

Aifad T ¥ T T FHI 8? U ffawel
@ Aifgd AT P9 geR 9 AeE &l
AT HReH B |

2. Define industrial policy. Why industrial policy
in essential for the development of a nation.

Senfires Ny @1 aRwia HIRT | wE I B
e @& fou stenfiie fd &1 891 o
JMIITD 87

3. What do you wunderstand by balance of
payment? Why it is important for the policy
makers of a country to have proper
understanding of components and balances of
balance of payment?

T I Al I T G 22 b g D
Hif ekl & fg yudE dges @ sragdl
qAqT AN @ JANFIT STFHR FAT ATAYT 57

4. What is International trade? Explain the
importance of world trade organization in the
development of International trade.

IRIER AUR T 8?7 JRGI AR
e # fivg @R dTed @& #8@ @
BEEIERE
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Section-B (Evs—4)

(Short Answer Type Question) /(g S<IRI dTdl U¥H)

Note:- Section ‘B’ contains eight (08) short answer

:ﬁ‘c’:—

type questions of Four (04) marks each.
Learners are required to answer any four
(04) questions only. (8x4=32)

Gus W H A6 (08) g SIRI aled Ued A
T B IS U B fIU e (08)
fiRa €1 Renffat o1 78 I ®aa IR (04)
Tel & IR o |

“Globalization has not brought the promised

economic benefits to the developing countries”
explain.

Ml BT TE < UR—T " IR B |

How Indian companies can be protected from
possible sickness?

YRAY SEEAT BT HY GRIfdd w9

AT ST FhdT 27

Explain the relationship between demand pull
and cost push inflations.
f$AFs got A =g o AN G AN S

qaT WHIRT & Ml T BT TS |
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Explain the rationale of Privatizsation.

frofievor & dd BT FHsISY |

What are the important reasons of
unemployment and poverty in India?

IRA H RIS U6 TR & 90 HROT AT 287

How you will categories the WTO agreement?
fIeg UR Hoed & g B AU [FF UBR
c . ?

What are important reasons for the slow
industrial development in India.

IRA @& 3Menfe faem W #9g 1fd & Agayet
HRE T 57

What are the arguments in favour and against
of disinvestment?

faferaer & uer 9 fauer & B9 F I &?

Section-C (€Us—T)

(Objective Type Questions) / (ERT:[,ﬁFEF %)

Note:- Section ‘C’ contains ten (10) objective type

questions of One (01) marks each. All the
questions of this section are compulsory.
(10)(1:10)
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Me— @os T # <9 (10) agis v A W g

udd g & oy Te (01) Sip FEiRa €1 s
g & Gl g Sffard g |

Choose the correct alternative:

ﬂﬁﬁwqﬁ?

1.

If nation terms of trade is 2 its partners term
of trade will be
(a) 4 (b)) 2

(c) 1 (d) Yo
Ife fredl I & IUR B AT 2 B AT SID
ATSER BT AR BT I B -
@ 4 b 2
(c) 1 (d) Yo

A depreciation of a nation’s currency equally
causes internal or domestic prices to

(a) Remain unchanged

(b) Rise

(c) Fall

(d) Any of the above

TUh Mg P a1 & Jod 4 BHI & BRUT IHD
R JAARS AAAT TN =~

(a)  mREfId v&d B |

(b) 98 W B |

(©) e S B |

(d) SWEd H | DIg W AL |
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3. Speculation in foreign exchange market refers
to —
(a) Accepting risk to make profit
(b) Careful heading
(c) Interest arbitrage
(d) All of the above.

facel fafrg IR # decamn = # fod
Hefid drar 2—

(@) oM HIM B v SIRgH S |

(b)  wTaETr o BRI |

(o) 1o Irdies |

d)  SUga |

4, The exchange rates is kept the same in all
parts of market by-
(a) Exchange arbitrage
(b) Headging
(c) Interest arbitrage
(d) Speculation

IR & 9 Bl ° Ay ) & 9ae

ST 8-

(@) fafrg edics &
by T

(o) o Irdies |
(d) AT |
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Product surplus is —

(a) Producer’s revenue minus cost
(b) Net profit after tax
(c) The reciprocal of consumer surplus

(d) None of the above

IS IS 1 # o @ § -
(a) AT gTThr ITET Dl 3T
(b) PR TCTHR Yg oY

(c)  SUWIGT 3T & IRTURS
() SWRIGT H F By A A8 |

Write True or False against the following:-

fr=faRed & I I8 /3 foRau —

6.

Bank rate refers to the rate of interest at
which in central Bank rediscounts approved

bill of exchange. (True/False)
S P 98 R O W diey 96 woR &

T fafrm fd &1 g9 @il w1 8 &1 d&
R PEd | GRIVERY)

With the passing of the Patents (Amendment)
Act 2005, the country has now where in a
process patent regime. (True/False)

e (demeE) faf g 2005 @& 9N B @
q1e, BART g Ufshar Uce omed | ufde o
T8 (Fc / )
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8. Industrial companies whose net worth had
been eroded completely and those which had
net worth eroded by 20 percent of more were
required to make a reference to the BIFR
under section 15 and 23 of the act.

(True/False)
BIFR 3faf=M &1 aRT 15 3R 23 & 3l
AMEfires et f9e e aof @ 9ara @1
A1 © AT 20 UG AT AP I B D! ©
IHT BIFR &I HafId HRAT MAeIF % |

(T / 319<Y)

9. Foreign capital takes two main forms: private
foreign investment and foreign aid.
(True/False)
faeell ol & <1 g w@wu @ ool faceh
faferamT qerr faeeh derar | (A / 399)

10. All foreign investment is now under automatic
appraisal’ routi which implies that permission
from the Govt. is not required only information
is to be provided. (True/False)

| faeel fAfeT o weaford qeaidd & dgd
g forgaT aef 2 f6 WReR ¥ srgafa e =nfey
Baet I o B (F / 3r)

Aooksksk sk
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